1.1

(discrete)

1967

(dichotomous)

1970

(1)
(2

(logistic regression)

(nominal)

Truett

Cox



(X) (Y)

exp(b, +b,X)

Y= 1+exp(b, +b,X)
(leukemia) (surviva)
1 0
i1,
Y =j
10
P(x) p(x) =Pr(Y =1[x)
p(x¥) = E(Y [x) =—=PLo *D:X) L11)

1+ exp(b, +b,Xx)



1.2

(Bernoulli)
(binomial)
Agresti 1990 Categorica Data Analysis
X = (%gs s %5 ) (observation)
n v {%li=1..)
X =1 (1.1.2)
exp(& “_b x;)
p(x) = S (1.2.1)
—  l+exp(@a,b;X;
(esophagea cancer)
y=p
Tni - yI '
ﬁ
(factor)

Po



(k=2)

p(Xx) Po (1.2.1)

p(x) = 2P0 *biX +b,%,) (1.2.2)
1+ exp(, +b,x, +b,%,)

(k>2)

1.3

1. Agresti (1990) Categorical Data Anaysis

(likelihood function)

p(ﬁ ) (1.2.1) C b

| I X ex - 2._ b x. 0
MooL) 4 vy - &nx, & |0(a°,_2 %) T =012
ﬂbj i=1 i=1 81+exp(aj=0bjxij)5




(likelihood equation)

L @exp@ibx) 6

|
é.YiXi" a N X o =0, j=012
2T glrexp(d b %) 5
(Newton-Raphson)
2. Dobson (1990) Introduction to Generalized Linear Model
{¥li=1..1}

Y, Bin(n ,p;)

E(Y) =np, Var (Y;) =np, - p;)

Y, N(nipi ,np; - p;) ) (131



(1.3.2) P

(1998)
H,:b,=0
Y. =v)
p=2 (L3.2)
n
P (122)

Iogae Px) g=bo +b,X; +b,X,
G- P 5

W = Iog(%)



4.

(1) E(Vvl) C‘:bO +blxi1 + b2xi2

1
@ V) @ ot p(x]

(2000)

Hy:p(X) = p,

H,:p(X)=p, Vs

p, logit

(1.3.3)

H,:b, +bx +b,x,=q, Vs

H,:p(X)* p,

Ha:b0+blxl+b2x21 qO

(1.3.3)

(13.4)



q=by+b,X; +b,x, - g

(1.3.4)

Ho:q:O VS. Ha:qlo (135)

(133) (134) (135

1.4

Pr(Y =) =§"_ gp(ﬁ)ly‘ [1- (I

(x) = 2P0 +D.X; +5,%,) L
—  1+exp(b, +b,x, +b,X,)




1.5

(1) E(Vvl) C‘:bO +blxi1 + b2xi2

1
@ V) @ ot p(x]

W,

(unstable)

(variance stabilizing)

1)

(

Rao 1973)

2



(powver)

(1998) (2000)



2.1

(variance stabilizing) Fisher (1921)

{T In=12} (sequence) n

Jn(T, - q)%#4® N(0,s?)
q T, 903

9€q)* 0 (Taylor expansion) 9(T,)

(Rao 1973)

Jn[g(T,) - g(a)] 3#4® N(0,s[g%q)]?)

T, s*(a) 903 9(T,)

s?(@[g%a)]* =C



1
9(@)=C o=—="1q
\s*(0)

9(T,)
q (independent)
2.2
1.3 {vli=1..1}
_ P,
W —Iog(r)
W
E(VVI) @bo +blxi1 * b2Xi2
1
Var(W) @

nPOOIL- p(X)]

W

E(W) @b, +b,x, +b,x,° h

(2.2.0)



£(h) 1 _[1+ exp(h)]?

“P()QM)  exp(h)

P(h) = exp(h)
1+ exp(h)

Z=j (W)

E(Z2) @ [EW)]=] (h)

o8 W)§
V Z —_—
ar( )@/ar(\N)g W

W=h

SLLIEHE

n



Rao (1973)

i ()=
4/f (h)
. eXp(E)

= Olv o "

O—=—=0adh

= 2tan'1[exp(g)] +C
2,° ] (w) = 2tan " {exp()]

(132) (22.1)

2, =2ten’{ exp[%log(%)]}

E(2,) @tan Texp("L)]

58 2 0
@tm*g\/exp(a b,%) 2
o0 g

(2.2.2)



(2.2.2) z

Var(Z,) @«/ar(\N)aaTJ W)Q O

W ﬂw
. [+ exph)]? . & e WO
v eety b 2 R .
_1
=

8

f(z)= /zn_'exp} &8; - Ztm'lg/exp(ébjxj):uy (2.2.3)
P§ 2e 0
2.3

Hy:b,=0 vs. H_:b,?0



(2.2.3)

9

2 o f
L(b,,b,,b,12) = O exp}- —ez, 2tan’ gJexp(a ij,):u y
i= \ 2P f j=0 A b

|
o)

1(Bo,by,b, IZ)——alogg—*- a—'lz 2tan’ g\/exp(abx.,)w

22 2Pg iz ZT

| i exp(@ *_,b; X) 0
a =anxiz- 2tan gJexp(a bjxj)dee\/ =071
ﬂb i=1 1 qél+ XIO(a,:

d |
dniz- 2 g\/exp(a N

~
=

ol [exp@ _Ob,x,) 0
1+exp(a

=O

_0 J

o exp(& _Ob,x,) 0

1+exp@ ™ Ob,x,)

én.xluz 2tan gJexp(ab )5

0
E(';)Iln,)ﬂﬂz 2tan™? eXp(ab )ﬂj d‘ée\/ p(a j=0 J)ﬂl) “_ 0

U
i
i
i
I
oygsn
i
i
i=1 %gl+exp(a 0bj>gj)— i)



b, b, b, (231

~ A~

Q. b,b,)=4n ;z 2tan 1[exp(—ab x,)]g (232)

H,:b,=0

4! xp(@*_b %) 9
a n,| Z - 2tan? \/exp(a bj)ﬂj d‘g\/ j=0 i i
i 7 1+exp(a] Objxlj)

g exp(8 o0, %;) ¢
a n, )§1| Z - 2tan™ exp(q bjxu) \/ j= 0 j
=1 j=0 §1+ exp(a_J Objxlj)



K =-2log(l )
=- 2{log[L(D,,b,)] - log[ L(b, b, .b,)I}
ZQQBO,Bl) - Q(60’61162)

3 C?l—a,l)
H,:b, =0 Cfl.a,l) 1

100a %
2.4

Ho:p(X)=p, Vvs. H_ :p(X)?!p,

P, 0 1
_ p
Ao =log( =)

H,:b, +bx +b,x,=q, Vvs. H,:b,+bx +b,x,? q,



(2.3.0)

(2.3.2)
PP .
Q(by,by,b)=a njz - 2tan’ [eXIO(—a b, )]g
i=1 ]
H,:b, +bx +b,x, =q, (14.1)

p(x) =— PG +:0% - %) +b,(x; - )]
1+exp[d, +b,(X; - %) +b,(X, - X,)]

N \2.
I n¢€ o 2 o !
L(b,,b, |Z) = O — expi - —éz - 2tan’ é expld, +ab;(X; - x)y
i=1 2p f 2 e =l a b
bJ'
flogL) _ 4 ] 2 2 q‘é\/exp[qwa _1 bj (% - xJ)]cj)
1(1)8 a (% - Xj )}_ z - Ztan'lg\jexp[qma bj (%) - X))l +yc +
j i= % j=1 %1+9XP[CIO+a bj (xj - Xj)]+
7]
d ! L4& & q,@\/@(p[qo+a =201 i = ] )]
a ni(xij - x)iz - 2tan expldo +a bj (Xj - xj)] -yg Z=0
i=1 f g =1 a)gl‘*e)(p[qo‘*a _1 J |J - Xj )]—
J {. = 7 i Jexp[qwaJ b (x5~ x))] ?
a ni(xij - x2)iz - 2tan" "¢ fexp[do + Q b j (jj - Xj)] y .=0
i=1 I =1 ao<;1+exp[qO +a 222§ O = X )]—



N .2
* 1% 1% °| I B 1 102 x U
Q' (b;,by)=anjz - 2tan"{exp[=a, +=a b;(x; - X))}y
izl ] 2 22 %

Hy: p(X) =p,
L(b; ,b,)

L(b,,b,.b,)

Hy:p(X) =p,

K" =-2log(l")
=-2{log[L(b;,b;)] - log[L(b,,b;,b,)]}
=Q'(b;,b;) - Q(by,b,,b,)

3 2
C r-a)

H,:p(X) = p, Ciray 1

100a %



(1998) (2000)

(Weld)

a=0.05 (X, X,)
1000 1000

(SD.)

3.1

Hy:b,=0 vs. H,:b,*0

(1)

D =-2[log L(b,,b,) - log L(b,,b,,b,)]

(1998)



(by,b,)  (b,,b,,b,) H, H,
D> C(21-a,l) HO C(2:L-a,1) 1
100a %
@)
T= b,
V33
T>Z 0y Hy Ly ar2)
100a % Vg b &) =B{O)* 3 3

g Eol npi- p) é Xnip (- pr) é XN p (- pr) 3
B(@): g&ol X piL- py) é xinip (- p) Eol Xi1 X2 P; (1- pi)g (3.11)
251 XM pi(L- py) é. Xip %2 Py (- py) é Xi22ni p- p) H
=50 n=75 H,:b,=0 vs. H, :b,>0

31 3.1(b)



31(@ H,:b,=0 H,_:b,>0

n=50
LRT Wald VST

b, Power | S.D. | Power | S.D. | Power | S.D.
0.1 | 0.0990 | 0.0096 | 0.0905 | 0.0092 | 0.0994 | 0.0096
0.2 | 01697 | 0.0116 | 0.1570 | 0.0113 | 0.1/00 | 0.0117
0.3 | 02640 | 0.0139 | 0.2473 | 0.0136 | 0.2638 | 0.0138
0.4 | 03762 | 0.0149 | 0.3569 | 0.0148 | 0.3754 | 0.0149
0.5 | 0.4990 | 0.0159 | 0.4788 | 0.0159 | 0.49/6 | 0.0159
0.6 | 06190 | 0.0155 | 0.5990 | 0.0157 | 0.61/0 | 0.0156
0.7 | 0.7261 | 0.0146 | 0.7078 | 0.0149 | 0.7240 | 0.0146
0.8 | 0.8144 | 0.0124 | 0.7986 | 0.0130 | 0.8126 | 0.0125
0.9 | 0.8817 | 0.0101 | 0.8684 | 0.0107 | 0.8802 | 0.0102
1.0 | 09278 | 0.0083 | 0.9171 | 0.0088 | 0.9268 | 0.0082

(1) LRT

(2) wald

(3) VST




31(b) Hy,:b,=0 H_:b,>0
n=75
LRT Wald VST

b, Power | S.D. | Power | S.D. | Power | S.D.
0.1 | 01087 | 0.0095 | 0.1051 | 0.0093 | 0.1083 | 0.0095
0.2 | 02034 | 0.0128 | 0.1969 | 0.0126 | 0.2028 | 0.0128
0.3 | 03333 | 0.0148 | 0.3235 | 0.0147 | 0.3326 | 0.0147
0.4 | 04836 | 0.0157 | 0.4/07 | 0.0157 | 0.4828 | 0.015/
0.5 | 0.6368 | 0.0151 | 0.6232 | 0.0151 | 0.6361 | 0.0151
0.6 | 0.7668 | 0.0132 | 0.7546 | 0.0134 | 0.7662 | 0.0133
0.7 | 0.8637 | 0.0109 | 0.8547 | 0.0112 | 0.8631 | 0.0109
0.8 | 09281 | 0.0083 | 0.9222 | 0.0087 | 0.9277 | 0.0084
0.9 | 09648 | 0.0058 | 0.9614 | 0.0060 | 0.9645 | 0.0058
1.0 | 0.9844 | 0.0039 | 0.9826 | 0.0041 | 0.9842 | 0.0039

(1) LRT

(2) wad

(3) VST




3.2

Ho:p(X)=p, VS H,:p(X)* p, (2000)

(1)
D" =-2[log L(b; ,b;) - log L(by,b;,b,)]
(b;,b;)  (by,by,b,) H, H,
D* > C(21-a,1) HO C(21-5\,1) 1
100a%
2
T = bo + b1X1 + bzxz - Y
\/Vll + XfVZZ + X§V33 + 2X.LV12 + 2)(2\/13 + ZX:LXZVZS
‘T*‘ > Z(l—a/2) I_lo Z(l—a/2)
100a % v, b &M =B{O)™* i i
B(b) (311
n=50 n=75 H,:p(x)=0.5 vs. H_:p(x)>05
(%, %) =(11) p(x) 0.5

32@ 3.2(b)



32(@ H,:p(x)=05 H,:p(x)>05
n=50

LRT

Wald

VST

P(X)

Power

S.D.

Power

SD

Power

S.D.

0.525

0.1038

0.0095

0.0969

0.0092

0.1085

0.0097

0.550

0.1949

0.0126

0.1853

0.0123

0.2014

0.0128

0.575

0.3228

0.0146

0.3112

0.0144

0.3305

0.0148

0.600

0.4811

0.0155

0.4681

0.0156

0.4887

0.0157

0.625

0.6461

0.0148

0.6343

0.0149

0.6520

0.0149

0.650

0.7905

0.0130

0.7813

0.0131

0.7941

0.0128

0.675

0.8954

0.0098

0.8895

0.0100

0.8972

0.0096

0.700

0.9576

0.0063

0.9543

0.0065

0.9584

0.0062

0.725

0.9863

0.0037

0.9849

0.0038

0.9867

0.0036

0.750

0.9967

0.0017

0.9963

0.0018

0.9969

0.0017

(1) LRT

(2) Wald

(3) VST




32() H,:p(x)=05 H,:p(x)>05
n=75

LRT

Wald

VST

P(X)

Power

S.D.

Power

S.D.

Power

S.D.

0.525

0.1226

0.0105

0.1163

0.0103

0.1253

0.0106

0.550

0.2477

0.0135

0.2389

0.0132

0.2515

0.0137

0.575

0.4250

0.0157

0.4154

0.0157

0.4294

0.0158

0.600

0.6240

0.0150

0.6154

0.0151

0.6277

0.0150

0.625

0.7971

0.0125

0.7912

0.0126

0.7996

0.0124

0.650

0.9132

0.0089

0.9100

0.0091

0.9145

0.0089

0.675

0.9717

0.0054

0.9703

0.0056

0.9722

0.0053

0.700

0.9933

0.0025

0.9929

0.0026

0.9935

0.0025

0.725

0.9989

0.0010

0.9989

0.0010

0.9990

0.0010

0.750

0.9999

0.0003

0.9999

0.0003

0.9999

0.0003

(1) LRT

(2) Wad

(3) VST




Hosmer  Lemeshow (1989) Applied Logistic
Regression 1986
( 2500 )

189 59

Al
(DRace (2)Smoke (3)UI (Uterine
[rritability) Race (Racel,Race?)

0,0 @109 (01

H,:b,=0 -
A2 (K) p
4.1 Ho:p(X) =P,
(K) p 4.2(a)~4.2(c)
(1998) (2000)

A3~A4(c)



X, X, K p-value
Race(W)| Smoke | 10401 | 0.001*
Race(B)| Smoke| 4.953 | 0.026*
Race(O)| Smoke| 8327 | 0.004*
Race(W) Ul 4785 | 0.029*
Race(B)| Ul 5.266 | 0.022*
Race(O)| Ul 4.67/6 | 0.031*
Smoke |Race(W) 10.592 | 0.001*
Smoke |Race(B)| 1.727 | 0.189
Smoke |Race(O) 5.088 | 0.024*
Smoke | Ul 4.448 | 0.035*

Ul |[Race(W) 4.605 | 0.032*

Ul |Race(B)] 1911 | 0.167

Ul |Race(O) 1439 | 0.230

Ul Smoke| 4.360 | 0.037*




42(@ Hyp(X)=p, H,:p(X¥)* p,

Racel | Race2 | Smoke p Po K* p-value
0 0 0 0.134 0.3 11.073 | 0.001*
0.2 2191 | 0.139

0.1 0.878 | 0.349

0.05 7.663 | 0.006*

0 0 1 0.325 0.5 7.689 | 0.006*
0.4 1467 | 0.226

0.3 0.178 | 0.673

0.2 5.018 | 0.025*

1 0 0 0.318 0.5 3.193 | 0.074
0.4 0.691 | 0.406

0.3 0.036 | 0.850

0.2 1.854 | 0.173

1 0 1 0.591 0.8 4470 | 0.034*
0.7 1.033 | 0.310

0.6 0.006 | 0.939

0.5 0.634 | 0.426

0 1 0 0.324 0.5 7.871 | 0.005*
0.4 1532 | 0.216

0.3 0.165 | 0.685

0.2 5.009 | 0.025*

0 1 1 0.598 0.7 1.210 | 0.271
0.6 0.001 | 0.986

0.5 1.028 | 0.311

0.45 2342 | 0.126

0.05




42(0) Hy:p(X)=p, H.:p(X¥?!p,

Racel | Race2 Ul P Po K* p-value

0 0 0 0.213 0.4 15.244 | 0.001*
0.3 3.666 | 0.056
0.2 0.088 | 0.766
0.1 9.314 | 0.002*

0 0 1 0412 0.6 3253 | 0071
0.5 0.721 | 0.396
0.4 0.014 | 0.907
0.3 1.327 | 0.249

1 0 0 0.396 0.5 1114 | 0.291
0.4 0.002 | 0.968
0.3 1.060 | 0.303
0.2 4957 | 0.026*

1 0 1 0.630 0.8 2374 | 0.123
0.7 0.329 | 0.566
0.6 0.053 | 0.817
0.5 0938 | 0.333

0 1 0 0.332 0.5 7.235 | 0.007*
0.4 1.244 | 0.265
0.3 0291 | 0.590
0.2 5.712 | 0.017*

0 1 1 0.563 0.7 1.887 | 0.17/0
0.6 0127 | 0.721
0.5 0.354 | 0.552
0.4 2370 | 0.124

* 0.05




42(c) Hy:p(X)=p, H,:p(X)* p,

Smoke Ul P Po K” p-value

0 0 0.227 0.4 15.358 | 0.001*
0.3 3.031 | 0.082
0.2 0.465 | 0.496
0.1 13.671 | 0.001*

0 1 0.422 0.6 2.998 | 0.083
0.5 0578 | 0.447
0.4 0.048 | 0.826
0.3 1.595 | 0.207

1 0 0.366 0.5 4910 | 0.027*
0.4 0.326 | 0.568
0.3 1.330 | 0.249
0.2 9.465 | 0.002*

1 1 0.590 0.7 1.256 | 0.262
0.6 0.009 | 0.923
0.5 0.742 | 0.389
0.4 3.281 | 0.070

0.05




5.1

Hosmer

Applied Logistic Regression

H,:b,=0 vs. H_ :b,>0

Ho:p(X)=p, Vs H,:p(X)>p,

(1998) (2000)

Lemeshow (1989)



5.2

(dependent)

5.3

Score

(odds ratio)

Smoke

Race



(retrospective)



Al Risk Factors Associated with I nfant

Birth Weight

Race | Smoke n y
1 0 44 4

1 1 52 19

2 0 16 5

2 1 10 6

3 0 55 20

3 1 12 5
Race Ul n y
1 0 83 18

1 1 13 5

2 0 23 9

2 1 3 2
3 0 55 18

3 1 12 7
Smoke| Ul n y
0 0 100 22

0 1 15 7
1 0 61 23

1 1 13 7

(1) Race 1=White, 2=Black, 3=Other.
(2) Smoke 1=Yes, 0=No.
(3) Ul (Uterine Irritability)  1=Yes, 0=No.



A2

H,:b,20 H,:b,=0

x. | x | b, | b | b, | b, | b
Race(W) Smoke| -0.742 | -1.119 | 1.130 | -0463 | -0.785
Race(B)| Smoke| -1.179 | 0585 | 0.714 | -0.883 | 0.564
Race(O)| Smoke | -1.518 | 0.808 | 0.999 | -1.000 | 0.481
Race(W) Ul -0.618 | -0.688 | 0.937 | -0.464 | -0.701
Race(B)| Ul -1.045 | 0620 | 0.980 | -0.884 | 0.574
Race(O) Ul -1.090 | 0396 | 0920 | -0.959 | 0434
Smoke [Race(W) -0.742 | 1.130 | -1.119 | -1.165 | 0.7/9
Smoke |[Race(B)| -1.179 | 0.714 | 0585 | -1.089 | 0./04
Smoke |[Race(O) -1.518 | 0.999 | 0.808 | -1.129 | 0.746
Smoke | Ul -1.227 | 0679 | 0913 | -1.103 | 0.718
Ul |Race(W) -0.618 | 0.937 | -0.688 | -0.958 | 0.958
Ul |Race(B)| -1.045 | 0980 | 0.620 | -0.951 | 0.953
Ul |Race(O) -1.090 | 0920 | 0.39% | -0.950 | 0.950
Ul Smoke| -1.227 | 0913 | 0.679 | -0.962 | 0.962




X X, D p-value

Race(W)| Smoke| 9.880 | 0.002*

Race(B)| Smoke | 4.948 | 0.026*

Race(O)| Smoke| 8.095 | 0.004*

Race(W) Ul 4844 | 0.028*

Race(B)| Ul 5363 | 0.021*

Race(O), Ul 4.745 | 0.029*

Smoke |[Racg(W) 9.827 | 0.002*

Smoke |Race(B)| 1.734 | 0.188

Smoke |Race(O) 5.002 | 0.025*

Smoke Ul 4594 | 0.032*

U |Race(W) 4582 | 0.032*

Ul |Race(B)| 1.940 | 0.164

Ul |Race(O) 1443 | 0.230

Ul Smoke| 4.385 | 0.036*

Q = 0.05
) (1998)



Ad(@ HypX¥)=p, H,:p(X* P,

Racel | Race2 | Smoke p Po D’ p-value
0 0 0 0.137 0.3 9.308 | 0.002*
0.2 1.787 | 0.181

0.1 0962 | 0.327

0.05 8.155 | 0.004*

0 0 1 0.326 0.5 7564 | 0.006*
0.4 1427 | 0.232

0.3 0.203 | 0.653

0.2 5513 | 0.019*

1 0 0 0.319 0.5 3.092 | 0.079
0.4 0.655 | 0419

0.3 0.043 | 0.837

0.2 1952 | 0.162

1 0 1 0.589 0.8 4679 | 0.031*
0.7 1.083 | 0.298

0.6 0.010 | 0921

0.5 0.597 | 0.440

0 1 0 0.325 0.5 7.867 | 0.005*
0.4 1525 | 0.217

0.3 0.183 | 0.669

0.2 5512 | 0.019*

0 1 1 0.595 0.7 1.344 | 0.246
0.6 0.003 | 0.957

0.5 0.962 | 0.327

0.45 2240 | 0.134

(1) * 0.05

)

(2000)




A4(b) Hy:p(X)=p, H,:p(X)?*p,

Racel | Race? Ul p Po D’ p-value

0 0 0 0.213 0.4 14.498 | 0.001*
0.3 3.557 | 0.059
0.2 0.090 | 0.764
0.1 10.324 | 0.001*

0 0 1 0412 0.6 3260 | 0071
0.5 0.715 | 0.398
0.4 0.014 | 0.907
0.3 1.331 | 0.249

1 0 0 0.396 0.5 1.106 | 0.293
0.4 0.002 | 0.968
0.3 1.075 | 0.300
0.2 5.232 | 0.02z*

1 0 1 0.630 0.8 2.380 | 0.123
0.7 0.328 | 0.567
0.6 0.053 | 0.818
0.5 0933 | 0334

0 1 0 0.332 0.5 7.094 | 0.008*
0.4 1.226 | 0.268
0.3 0292 | 0.589
0.2 5963 | 0.015*

0 1 1 0.563 0.7 1.899 | 0.168
0.6 0127 | 0.722
0.5 0.352 | 0.553
0.4 2374 | 0.123

Q1 * 0.05
2 (2000)




A4(c) Hy:p(X)=p, H,:p(X¥?! p,

Smoke Ul P Po D’ p-value

0 0 0.227 0.4 14533 | 0.001*
0.3 2920 | 0.087
0.2 0470 | 0.493
0.1 15021 | 0.001*

0 1 0.422 0.6 3.055 | 0.080
0.5 0585 | 0444
0.4 0.049 | 0.825
0.3 1.645 | 0.200

1 0 0.366 0.5 4888 | 0.027*
0.4 0327 | 0.567
0.3 1.360 | 0.244
0.2 10.099 | 0.001*

1 1 0.590 0.7 1.296 | 0.255
0.6 0.010 | 0921
0.5 0.749 | 0.387
0.4 3.339 | 0.068

QL = 0.05
) (2000)




